
Call us: 9100433442 | 9100433445 www.excelacademy.com  

EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

Date: 15-05-2023 
 
 

1. Tourist are interested to visit the place which has following characteristic.’  

It is a hill town in Western Ghats mountain range, it’s known for the Raja’s Seat, a simple monument 

overlooking forests and rice paddies. Its altitude is about 1500 meters. Abbe falls creates spectacular view 

from this destination’.  

Which of the following destination tourist is expected to visit ? 

a) Madikeri 

b) Udagmandalam 

c) Munnar  

d) Mahabaleshwar. 

 

2. Consider the following pairs: 

Tribes    Mountain Range 

1) Toda tribe              Nilgiri 

2) Warli              Sahyadri 

3) Korku                     Satpura 

Which of the pairs given above is/are correct? 

a) Only 1 and 3    

b) Only 1 and 2 

c) Only 3               

d) All of the above. 

 

3. The focus of policies in India has always been to bring the marginalized and poor sections into the mainstream 

of society. Which of the following government schemes does not have social and financial inclusion as an 

objective?  

a) Pradhan Mantri Jan Dhan Yojana  

b) Sugamya Bharat Abhiyan  

c) Project Saksham  

d) Ayushmann Bharat Mission  

 

4. Which of the following items come under ‘Current Account’ of the Balance of Payment?  

1) Exports  

2) Interest payments  

3) Private remittance  

4) FDI  
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5) External lending and borrowing  

Select the correct answer using the code given below:  

a) 1, 2 and 3  

b) 2, 3 and 4  

c) 1, 2, 3 and 5  

d) 1, 2, 3, 4 and 5 

 

5. In which of the following types of Disinvestment, the control over management is transferred?  

1) Strategic disinvestment  

2) Offer for Sale  

3) Cross-holding  

4) Privatization  

Select the correct answer using the code given below.  

a) 4 only  

b) 1, 2 and 4  

c) 2 and 3  

d) 1 and 4  

 

6. With reference to Women’s Livelihood Bonds, consider the following statements:  

1) They will be launched by SIDBI with the help of the World Bank and UN Women.  

2) They will target women entrepreneurs in the technology sector.  

Which of the statements given above is/are correct?  

a) 1 only  

b) 2 only  

c) Both 1 and 2  

d) Neither 1 nor 2 

 

7. Consider the following statements regarding Central Water Commission. 

1) Central Water Commission was established in 1940’s by the Government on the advice of Dr. B.R. 

Ambedkar. 

2) It responsible for strengthening international cooperation on matters relating to trans-boundary rivers. 

3) It is headed by Union Minister. 

Which of the above statements is/are correct? 

Select the correct code. 

a) 1 and 2 only 

b) 2 only 

c) 1 and 3 only 

d) 1, 2 and 3 
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8. With respect to Global stocktake of the Paris Agreement (GST), consider the following statements. 

1) It is a process of taking stock of the implementation of this Agreement to assess the collective progress 

towards achieving the purpose of this Agreement. 

2) Every five year, the countries must submit the updates on climate as determined to UNFCCC Secretariat 

form 2020. 

Which of the above statements is/are correct? 

Select the correct code. 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

9. Which of the following sources form part of the Revenue Receipts of government?  

1) Interests received by the government on loans  

2) Interests paid by the government on loans  

3) Penalties & fines received by the government  

4) Borrowings by the government  

Select the correct answer using the code given below:  

a) 1, 3 and 4 only  

b) 1 and 3 only  

c) 1, 2 and 3  

d) 1 only  

 

10. Consider the following statements regarding Outcome and Performance Budgets:  

1) Outcome Budget is presented by the Ministry of Finance, whereas Performance budget is presented by 

different departments of a ministry.  

2) Outcome budget is a micro-level process and Performance budget is a macro-level process.  

3) Many Outcome budgets form one Performance budget.  

Which of the statements given above is/are correct?  

a) 1, 2 and 3  

b) 1 and 2 only  

c) 1 only  

d) 2 and 3 only 
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